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y 4K (inheritance)
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45 @] class Car:

46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69

def

o »def

def

__init__(self, name):

self.name = name
self.remain_mile = 0

fill_fuel(self, miles): # mNAREFRE
self.remain_mile = miles

run(self, miles): # iEmiles:mE

print (self.name, end=': ')
if self.remain_mile >= miles:
self.remain_mile -= miles

print(“run %d miles!"™ % (miles,))
else:
print("fuel out!")

class GasCar(Car):

ol def

fill_fuel(self, gas): # fniSiMgasFt
self.remain_mile = gas * 6.0 # SFH6EE

class ElecCar(Car):

of def

fill_fuel(self, power): # FEpowerfE
self.remain_mile = power x 3.0 # HEHBE3IRE
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71 gcar=GasCar("BMW")
72 gcar.fill_fuel(50.0)
73 gcar.run(200.0)

75 ecar=ElecCar("Tesla")
76 ecar.fill fuel(60.0)
77 ecar.run(200.0)

Z

BMW: run 200 miles!
Tesla: fuel out!

AT K FriR G 2 1A A5 5 12/ 5 %,/2018



FRERK

y BN
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Fo 7y ik
class < FTREL>(cXEX%>):
def <Z & X FHik>(self,..):
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y Eoa(Override)
F A TAARXEF &, BRIEXANAF
EETRERPENEXLT
WRTEARALTEELT KL H K,
R AR X R0 F ik

 FREAJLARMREPREBIAE
FIBTE

class GasCar(Car):
def __init__ (self, name, capacity): # RMFH=
super().__init__(name) # XREWWBILHE, REBMR
self.capacity = capacity # ENTHIEEM

Z
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HRERE self

y selfi{EH
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y selfSEpR_ECR/ITRELH

ST H> < TFES(<HHE)
FHTF -
<E> <FES(HTE>, <HH>)

X 2T A self
y W TFEline81%[182

79 gcar = GasCar("BMW")

80 gcar.fill_fuel(50.0)

81 gcar.run(200.0)

82 GasCar.run(gcar, 200.0)

Z
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